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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  (2×19=38)

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Describe a major characteristics developing economy

of the Indian economy.





2. The problem of growing unemployment in the country

in the manpower utilization of resources is indicative,

of the absence of effective policy. Analysis of this

statement.
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





3. Explain how Minimum support price (MSP),

micro finance, easy access to credit and agricultural

marketing help in addressing the issues in the agricultural

sector ?

      

  



4. Evaluate India food policy. Framework fair and

progressive food policy and describe the measures to

overcome difficulties.



          



5. Discuss the instruments of monetary policy and throw

light on the main features of monetary policy from the

late-1990 ’s onwards.

        1990 

         


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Section–B

–

Sh ort Answ er Type Questions

  (4×8=32)

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. Explaining the meaning of infrastructure indicated its

various types.

         



2. Explain the importance of natural resources in the

development of industries.



3. Define the objectives of economic planning and highlight

its achievements.

        


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4. Write briefly about the various schemes run by the

government to eradicate poverty.

        



5. Discuss the effects of green revolution on Agriculture

production and employment.

          



6. Analyse the impact of WTO on the diversification of

India an agriculture  ?

 



7. Your thought on the role of small and cottage industries

in Economic growth.

       

 

8. What roles have the Public and Private sectors played

in the process of industrialization in the past ten years ?

       



**************


